ARIZONA DEPARTMENT OF TRANSPORTATION INFRASTRUCTURE DELIVERY AND OPERATIONS DIVISION CONTRACTS AND SPECIFICATIONS SECTION

TABULATION OF BIDS

CONTRACT # 2024078

	TRACS	No.	Project No.	Item	County	District	Gross Length	Net Length	Prepared By:	
070	GH 274	F069801C	070-A-(226)T	104175	GRAHAM	SOUTHEAST	1		Rene Teran	

Highway Termini Location	Work Description
--------------------------	------------------

[•] GLOBE - LORDSBURG HWY (US 70)

[•] Medicine Way Rd - MP 275.7

[•]System Enhancement (Engineering)

Printed: 9/23/2025 Page 1 of 12

BID RESULTS FOR 2024078

Bid Opening Date: 8/1/2025, Prequalification Required, Engineer Specialist: Rene Teran

Completion Date:

170 Working Days

The proposed project is located in US 70 about 25 miles southeast of Globe and in the San Carlos Indian Reservation, it consists of construction of an eastbound passing lane and 5 foot shoulder on US 70 from MP 274.57 to MP 275.59, within the SE District, in Graham County. Proposed work consists of placing micro-surfacing on top of asphaltic concrete and aggregate base on the passing lane and fog coat on top of asphaltic concrete and aggregate base on the 5' shoulder. Additional work includes some drainage work, replacing pavement markings and other miscellaneous work.

Bid Rank	Compared To Department Estimat Option	# Bid Amount	Contractor	Extended Sum of Items
	+%	\$3,358,051.00	DEPARTMENT ESTIMATE	\$3,358,051.00
1	+2.6%	\$3,446,235.70	SEMA CONSTRUCTION, INC. 7353 S EAGLE STREET CENTENNIAL, CO 80112-	\$3,446,235.70
2	+28.5%	\$4,316,488.90	SHOW LOW CONSTRUCTION, INC. 1801 W. DEUCE OF CLUBS, SUITE 300 SHOW LOW, AZ 85901-	\$4,316,488.90
3	+31.6%	\$4,419,378.35	W. W. CLYDE & CO. 869 N. 1500 W. Orem, UT 84057-	\$4,419,378.35

Winning Bidder is 2.6% Over Department Estimate (Difference = \$88,184.70)

Printed: 9/23/2025 Page 2 of 12 *** Bid Tabs for Proposal Pamphlet 2024078 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate	
2010001	L.SUM	CLEARING AND GRUBBING					
Bid Rank	Department	Estimate	1.000	\$5,000.350	\$5,000.35		
1	SEMA CONS	STRUCTION, INC.		\$44,652.460	\$44,652.46	+793.0%	
2	SHOW LOW	CONSTRUCTION, INC.		\$24,347.800	\$24,347.80	+386.9%	
3	W. W. CLYD	E & CO.		\$20,500.000	\$20,500.00	+310.0%	
2020009	CU.YD.	REMOVAL OF STRUCTURAL C	ONCRETE				
Bid Rank	Department	Estimate	2.000	\$500.000	\$1,000.00		
1	SEMA CONS	STRUCTION, INC.		\$4,821.080	\$9,642.16	+864.2%	
2	SHOW LOW	CONSTRUCTION, INC.		\$3,956.480	\$7,912.96	+691.3%	
3	W. W. CLYD	E & CO.		\$1,700.000	\$3,400.00	+240.0%	
2020041	L.FT.	REMOVAL OF PIPE					
Bid Rank	Department	Estimate	4.000	\$100.000	\$400.00		
1	SEMA CONS	STRUCTION, INC.		\$330.920	\$1,323.68	+230.9%	
2	SHOW LOW	CONSTRUCTION, INC.		\$521.550	\$2,086.20	+421.6%	
3	W. W. CLYD	E & CO.		\$58.500	\$234.00	-41.5%	
2020053	EACH	REMOVE (GUARD RAIL END T	ERMINAL)				
Bid Rank	Department	Estimate	8.000	\$500.000	\$4,000.00		
1	SEMA CONS	STRUCTION, INC.		\$773.210	\$6,185.68	+54.6%	
2	SHOW LOW	CONSTRUCTION, INC.		\$1,033.640	\$8,269.12	+106.7%	
3	W. W. CLYD	E & CO.		\$1,095.000	\$8,760.00	+119.0%	
2020054	EACH	REMOVE (SIGN ASSEMBLY)					
Bid Rank	Department	Estimate	8.000	\$300.000	\$2,400.00		
1	SEMA CONS	STRUCTION, INC.		\$229.330	\$1,834.64	-23.6%	
2	SHOW LOW	CONSTRUCTION, INC.		\$174.820	\$1,398.56	-41.7%	
3	W. W. CLYD	E & CO.		\$420.000	\$3,360.00	+40.0%	
2020071	L.FT.	REMOVE GUARD RAIL					
Bid Rank	Department	Estimate	2,027.000	\$8.000	\$16,216.00		
1	SEMA CONS	STRUCTION, INC.		\$4.670	\$9,466.09	-41.6%	
2	SHOW LOW	CONSTRUCTION, INC.		\$7.960	\$16,134.92	-0.5%	
3	W. W. CLYD	E & CO.		\$11.000	\$22,297.00	+37.5%	
2030301	CU.YD.	ROADWAY EXCAVATION					
Bid Rank	Department	Estimate	32,714.000	\$22.000	\$719,708.00		
1	SEMA CONS	STRUCTION, INC.		\$21.720	\$710,548.08	-1.3%	
2	SHOW LOW	CONSTRUCTION, INC.		\$29.200	\$955,248.80	+32.7%	
3	W. W. CLYD	E & CO.		\$35.000	\$1,144,990.00	+59.1%	
2030501	CU.YD.	STRUCTURAL EXCAVATION					
Bid Rank	Department	Estimate	100.000	\$100.000	\$10,000.00		
1	•	STRUCTION, INC.		\$77.450	\$7,745.00	-22.6%	
		•		•	• •		

Printed: 9/23/2025 Page 3 of 12 *** Bid Tabs for Proposal Pamphlet 2024078 ***

	ltem Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate	
	2030501	CU.YD.	STRUCTURAL EXCAVATION					
	Bid Rank	Department	Estimate	100.000	\$100.000	\$10,000.00		
	2	SHOW LOV	V CONSTRUCTION, INC.		\$217.280	\$21,728.00	+117.3%	
	3	W. W. CLYE	DE & CO.		\$114.000	\$11,400.00	+14.0%	
	2030506	CU.YD.	STRUCTURE BACKFILL					_
	Bid Rank	Department	Estimate	682.000	\$150.000	\$102,300.00		
	1	SEMA CON	STRUCTION, INC.		\$84.130	\$57,376.66	-43.9%	
	2	SHOW LOV	V CONSTRUCTION, INC.		\$110.170	\$75,135.94	-26.6%	
	3	W. W. CLYE	DE & CO.		\$105.000	\$71,610.00	-30.0%	
	2080001	SQ.YD.	SEPARATION GEOTEXTILE FAI	BRIC				_
	Bid Rank	Department	Estimate	219.000	\$12.000	\$2,628.00		
	1	SEMA CON	STRUCTION, INC.		\$12.140	\$2,658.66	+1.2%	
	2		V CONSTRUCTION, INC.		\$42.810	\$9,375.39	+256.8%	
	3	W. W. CLYE	DE & CO.		\$4.000	\$876.00	-66.7%	
	3030022	CU.YD.	AGGREGATE BASE, CLASS 2					_
	Bid Rank	Department	Estimate	2,958.000	\$85.000	\$251,430.00		
	1	SEMA CON	STRUCTION, INC.		\$87.240	\$258,055.92	+2.6%	
	2	SHOW LOV	V CONSTRUCTION, INC.		\$110.330	\$326,356.14	+29.8%	
	3	W. W. CLYE	DE & CO.		\$70.000	\$207,060.00	-17.6%	
	4040076	TON	EMULSIFIED ASPHALT (MICRO	-SURFACING)				_
	Bid Rank	Department	•	11.000	\$2,000.000	\$22,000.00		
	1		STRUCTION, INC.		\$1,880.870	\$20,689.57	-6.0%	
	2	SHOW LOV	V CONSTRUCTION, INC.		\$2,268.000	\$24,948.00	+13.4%	
	3	W. W. CLYE	DE & CO.		\$3,055.000	\$33,605.00	+52.8%	
	4040111	TON	BITUMINOUS TACK COAT					_
	Bid Rank	Department	Estimate	3.000	\$1,000.000	\$3,000.00		
	1	SEMA CON	STRUCTION, INC.		\$522.460	\$1,567.38	-47.8%	
	2	SHOW LOV	V CONSTRUCTION, INC.		\$630.000	\$1,890.00	-37.0%	
	3	W. W. CLYE	DE & CO.		\$535.000	\$1,605.00	-46.5%	
	4040116	HOUR	APPLY BITUMINOUS TACK COA	AT				_
	Bid Rank	Department	Estimate	1.000	\$500.000	\$500.00		
	1	SEMA CON	STRUCTION, INC.		\$1,253.910	\$1,253.91	+150.8%	
	2		V CONSTRUCTION, INC.		\$1,512.000	\$1,512.00	+202.4%	
	3	W. W. CLYE	DE & CO.		\$350.000	\$350.00	-30.0%	
-	4040125	TON	FOG COAT					_
	Bid Rank	Department	Estimate	2.000	\$1,500.000	\$3,000.00		
	1		STRUCTION, INC.		\$5,015.650	\$10,031.30	+234.4%	
	2		V CONSTRUCTION, INC.		\$6,048.000	\$12,096.00	+303.2%	
			:			•		

Printed: 9/23/2025 Page 4 of 12 *** Bid Tabs for Proposal Pamphlet 2024078 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
4040125	TON	FOG COAT				
Bid Rank	Department	Estimate	2.000	\$1,500.000	\$3,000.00	
3	W. W. CLYI	DE & CO.		\$7,200.000	\$14,400.00	+380.0%
4040165	SQ.YD.	BLOTTER MATERIAL				
Bid Rank	Department	Estimate	3,734.000	\$2.000	\$7,468.00	
1	SEMA CON	STRUCTION, INC.		\$0.420	\$1,568.28	-79.0%
2	SHOW LOV	V CONSTRUCTION, INC.		\$2.520	\$9,409.68	+26.0%
3	W. W. CLYI	DE & CO.		\$1.000	\$3,734.00	-50.0%
4040172	TON	DRY MINERAL AGGREGATE (MIC	CRO-SURFACING) (TYPE	III)		
Bid Rank	Department	Estimate	97.000	\$275.000	\$26,675.00	
1	SEMA CON	STRUCTION, INC.		\$548.590	\$53,213.23	+99.5%
2	SHOW LOV	V CONSTRUCTION, INC.		\$661.500	\$64,165.50	+140.5%
3	W. W. CLYI	DE & CO.		\$890.000	\$86,330.00	+223.6%
4090006	TON	ASPHALTIC CONCRETE (MISCEI	LANEOUS STRUCTURA	L) (SPECIAL MIX)		
Bid Rank	Department	Estimate	4,069.000	\$150.000	\$610,350.00	
1	SEMA CON	STRUCTION, INC.		\$168.230	\$684,527.87	+12.2%
2	SHOW LOV	V CONSTRUCTION, INC.		\$202.860	\$825,437.34	+35.2%
3	W. W. CLYI	DE & CO.		\$145.000	\$590,005.00	-3.3%
5010007	L.FT.	PIPE, CORRUGATED METAL, 18	"			
Bid Rank	Department	Estimate	88.000	\$250.000	\$22,000.00	
1	SEMA CON	STRUCTION, INC.		\$138.640	\$12,200.32	-44.5%
2	SHOW LOV	V CONSTRUCTION, INC.		\$180.230	\$15,860.24	-27.9%
3	W. W. CLYI	DE & CO.		\$255.000	\$22,440.00	+2.0%
5010030	L.FT.	PIPE, CORRUGATED METAL, 42	"			
Bid Rank	Department	Estimate	38.000	\$600.000	\$22,800.00	
1	SEMA CON	STRUCTION, INC.		\$203.580	\$7,736.04	-66.1%
2	SHOW LOV	V CONSTRUCTION, INC.		\$320.840	\$12,191.92	-46.5%
3	W. W. CLYI	DE & CO.		\$406.500	\$15,447.00	-32.3%
5010045	L.FT.	PIPE, CORRUGATED METAL, 60	n			
Bid Rank	Department	Estimate	44.000	\$750.000	\$33,000.00	
1	SEMA CON	STRUCTION, INC.		\$247.050	\$10,870.20	-67.1%
2	SHOW LOV	V CONSTRUCTION, INC.		\$602.590	\$26,513.96	-19.7%
3	W. W. CLYI	DE & CO.		\$628.500	\$27,654.00	-16.2%
5014018	EACH	FLARED END SECTION, 18" (C-1	3.25)			
Bid Rank	Department	Estimate	2.000	\$2,500.000	\$5,000.00	
1	SEMA CON	STRUCTION, INC.		\$633.690	\$1,267.38	-74.7%
2	SHOW LOV	V CONSTRUCTION, INC.		\$748.130	\$1,496.26	-70.1%
3	W. W. CLYI	DE & CO.		\$1,684.000	\$3,368.00	-32.6%

Printed: 9/23/2025 Page 5 of 12

*** Bid Tabs for Proposal Pamphlet 2024078 *** Unit of **Compared To** Item Dept Estimate Number Measure **Unit Price Item Description** Quantity **Extended Amount** 6010002 CU.YD. STRUCTURAL CONCRETE (CLASS S) (F'C = 3,000) Bid Rank \$1,350.000 Department Estimate 149.000 \$201,150.00 SEMA CONSTRUCTION, INC. \$1,713.540 \$255,317.46 +26.9% 2 SHOW LOW CONSTRUCTION, INC. \$1,742.830 \$259,681.67 +29.1% 3 W. W. CLYDE & CO. \$2,470.000 \$368,030.00 +83.0% 6016088 **EACH** HEADWALL (SD 6.30) Bid Rank 1.000 Department Estimate \$20,000.000 \$20,000.00 1 SEMA CONSTRUCTION, INC. \$56,783.900 \$56,783.90 +183.9% 2 SHOW LOW CONSTRUCTION, INC. \$48.398.430 \$48,398.43 +142.0% 3 W. W. CLYDE & CO. \$40,510.000 \$40,510.00 +102.6% 6050002 ΙB REINFORCING STEEL Bid Rank Department Estimate 17,657.000 \$2.500 \$44,142.50 1 SEMA CONSTRUCTION, INC. \$2.000 -20.0% \$35,314.00 2 \$2.590 +3.6% SHOW LOW CONSTRUCTION, INC. \$45,731.63 3 W. W. CLYDE & CO. \$4.200 \$74,159.40 +68.0% 6050101 EACH PLACE DOWELS Bid Rank 20.000 \$200.000 Department Estimate \$4,000.00 1 SEMA CONSTRUCTION, INC. \$121.940 \$2,438,80 -39.0% 2 SHOW LOW CONSTRUCTION, INC. \$113.050 \$2,261.00 -43.5% 3 W. W. CLYDE & CO. \$170,000 \$3,400.00 -15.0% 6070038 SLIP BASE EACH Bid Rank \$2,600.00 Department Estimate 13.000 \$200.000 SEMA CONSTRUCTION, INC. \$429.990 +115.0% 1 \$5,589.87 2 SHOW LOW CONSTRUCTION, INC. \$465.500 +132.8% \$6,051.50 3 +100.0% W. W. CLYDE & CO. \$400.000 \$5,200.00 6070055 L.FT. SIGN POST (PERFORATED) (2 1/2 S) Bid Rank 77.000 Department Estimate \$50.000 \$3,850.00 \$9.170 \$706.09 -81.7% 1 SEMA CONSTRUCTION, INC. 2 \$33.650 -32.7% SHOW LOW CONSTRUCTION, INC. \$2.591.05 -44.0% 3 W. W. CLYDE & CO. \$28,000 \$2,156,00 6070057 L.FT. SIGN POST (PERFORATED) (2 1/2 T) Bid Rank 90.000 Department Estimate \$40.000 \$3,600.00 SEMA CONSTRUCTION, INC. \$17.200 \$1,548.00 -57.0% 1 2 SHOW LOW CONSTRUCTION, INC. \$46.550 +16.4% \$4,189.50 3 \$35.000 -12.5% W. W. CLYDE & CO. \$3,150.00 6070060 EACH FOUNDATION FOR SIGN POST (CONCRETE) Bid Rank Department Estimate 13.000 \$400.000 \$5,200.00

\$515.990

\$6,707.87

+29.0%

1

SEMA CONSTRUCTION, INC.

Printed: 9/23/2025 Page 6 of 12 *** Bid Tabs for Proposal Pamphlet 2024078 ***

 ltem Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate	
6070060	EACH	FOUNDATION FOR SIGN F	POST (CONCRETE)				
Bid Rank	Department	Estimate	13.000	\$400.000	\$5,200.00		
2	SHOW LOV	V CONSTRUCTION, INC.		\$332.500	\$4,322.50	-16.9%	
3	W. W. CLYE	DE & CO.		\$560.000	\$7,280.00	+40.0%	
6080005	SQ.FT.	REGULATORY, WARNING	OR MARKER SIGN PANEL				
Bid Rank	Department	Estimate	78.000	\$50.000	\$3,900.00		
1	SEMA CON	ISTRUCTION, INC.		\$28.670	\$2,236.26	-42.7%	
2	SHOW LOV	V CONSTRUCTION, INC.		\$53.200	\$4,149.60	+6.4%	
3	W. W. CLYE	DE & CO.		\$49.000	\$3,822.00	-2.0%	
 6080025	SQ.FT.	FLAT SHEET ALUMINUM S	SIGN PANEL				
Bid Rank	Department	: Estimate	25.000	\$55.000	\$1,375.00		
1	SEMA CON	ISTRUCTION, INC.		\$34.400	\$860.00	-37.5%	
2	SHOW LOV	V CONSTRUCTION, INC.		\$53.200	\$1,330.00	-3.3%	
3	W. W. CLYI	DE & CO.		\$70.000	\$1,750.00	+27.3%	
 6080055	EACH	SIGN PANEL (RELOCATE)					
Bid Rank	Department	Estimate	2.000	\$300.000	\$600.00		
1	SEMA CON	ISTRUCTION, INC.		\$172.000	\$344.00	-42.7%	
2		V CONSTRUCTION, INC.		\$399.000	\$798.00	+33.0%	
3	W. W. CLYE	DE & CO.		\$210.000	\$420.00	-30.0%	
7016030	EACH-DAY	BARRICADE (TYPE 1, TYF	E 2, VERT.PANEL, TUBULAR MA	RKER)			
Bid Rank	Department	Estimate	13,552.000	\$0.250	\$3,388.00		
1	SEMA CON	ISTRUCTION, INC.		\$0.050	\$677.60	-80.0%	
2	SHOW LOV	V CONSTRUCTION, INC.		\$0.740	\$10,028.48	+196.0%	
3	W. W. CLYE	DE & CO.		\$0.550	\$7,453.60	+120.0%	
 7016031	EACH-DAY	BARRICADE (TYPE 3, HIG	H LEVEL FLAG TREE)				
Bid Rank	Department	Estimate	208.000	\$1.000	\$208.00		
1	SEMA CON	ISTRUCTION, INC.		\$0.060	\$12.48	-94.0%	
2	SHOW LOV	V CONSTRUCTION, INC.		\$2.790	\$580.32	+179.0%	
 3	W. W. CLYD	DE & CO.		\$1.600	\$332.80	+60.0%	
7016032	EACH-DAY	PORTABLE SIGN STAND (RIGID)				
Bid Rank	Department	Estimate	900.000	\$1.000	\$900.00		
1	SEMA CON	ISTRUCTION, INC.		\$0.070	\$63.00	-93.0%	
2	SHOW LOV	V CONSTRUCTION, INC.		\$2.790	\$2,511.00	+179.0%	
3	W. W. CLYI	DE & CO.		\$1.500	\$1,350.00	+50.0%	
7016033	EACH-DAY	PORTABLE SIGN STAND (SPRING TYPE)				
Bid Rank	Department	,	1,056.000	\$1.000	\$1,056.00		
1	•	STRUCTION, INC.	•	\$0.100	\$105.60	-90.0%	
2	SHOW LOV	V CONSTRUCTION, INC.		\$2.790	\$2,946.24	+179.0%	

Printed: 9/23/2025

*** Bid Tabs for Proposal Pamphlet 2024078 *** Unit of **Compared To** Item Dept Estimate Number Measure **Unit Price Extended Amount Item Description** Quantity 7016033 **EACH-DAY** PORTABLE SIGN STAND (SPRING TYPE) Bid Rank 1,056.000 \$1.000 Department Estimate \$1,056.00 W. W. CLYDE & CO. \$1.800 \$1,900.80 +80.0% 7016035 EACH-DAY WARNING LIGHT (TYPE A) Bid Rank Department Estimate 4.750.000 \$0.500 \$2.375.00 1 SEMA CONSTRUCTION, INC. \$0.050 \$237.50 -90.0% 2 SHOW LOW CONSTRUCTION, INC. \$0.370 \$1,757.50 -26.0% 3 W. W. CLYDE & CO. \$0.450 \$2,137.50 -10.0% 7016037 EACH-DAY WARNING LIGHT (TYPE C) Bid Rank 13,522.000 \$0.500 \$6,761.00 Department Estimate 1 SEMA CONSTRUCTION, INC. \$0.050 \$676.10 -90.0% 2 SHOW LOW CONSTRUCTION, INC. \$0.370 \$5.003.14 -26.0% 3 \$0.450 -10.0% W. W. CLYDE & CO. \$6,084.90 7016039 EACH-DAY EMBEDDED SIGN POST Bid Rank Department Estimate 6.944.000 \$1.000 \$6.944.00 1 SEMA CONSTRUCTION, INC. \$0.100 \$694.40 -90.0% 2 SHOW LOW CONSTRUCTION, INC. \$1.120 +12.0% \$7,777.28 3 W. W. CLYDE & CO. \$0.450 \$3.124.80 -55.0% 7016050 EACH-DAY TRUCK-MOUNTED ATTENUATOR Bid Rank Department Estimate 13.000 \$600.000 \$7,800.00 1 SEMA CONSTRUCTION, INC. \$129.000 \$1,677.00 -78.5% 2 SHOW LOW CONSTRUCTION, INC. \$598.500 \$7,780.50 -0.3% 3 W. W. CLYDE & CO. \$1,712.500 +185.4% \$22,262.50 7016051 EACH-DAY TEMPORARY SIGN (LESS THAN 10 S.F.) Bid Rank Department Estimate 1,376.000 \$0.850 \$1,169.60 \$0.070 1 SEMA CONSTRUCTION, INC. \$96.32 -91.8% 2 SHOW LOW CONSTRUCTION, INC. \$0.370 \$509.12 -56.5% \$1,788.80 3 \$1.300 +52.9% W. W. CLYDE & CO. 7016052 EACH-DAY TEMPORARY SIGN (10 S.F. OR MORE) Bid Rank Department Estimate 4,533.000 \$1.000 \$4,533.00 1 SEMA CONSTRUCTION, INC. \$0.080 \$362.64 -92.0% 2 SHOW LOW CONSTRUCTION, INC. \$2.790 \$12,647.07 +179.0% 3 \$1.500 \$6,799.50 +50.0% W. W. CLYDE & CO. 7016067 EACH-DAY CHANGEABLE MESSAGE BOARD (CONTRACTOR FURNISHED) Bid Rank \$55.000 Department Estimate 434.000 \$23,870.00 1 SEMA CONSTRUCTION, INC. \$30.000 \$13,020.00 -45.5% 2 SHOW LOW CONSTRUCTION, INC. \$53.200 -3.3% \$23,088.80

\$53.500

\$23,219.00

-2.7%

3

W. W. CLYDE & CO.

Printed: 9/23/2025 Page 8 of 12 *** Bid Tabs for Proposal Pamphlet 2024078 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7016071	HOUR	PILOT VEHICLE WITH DRIVER	}			
Bid Rank	Department	Estimate	852.000	\$60.000	\$51,120.00	
1	SEMA CON	STRUCTION, INC.		\$70.000	\$59,640.00	+16.7%
2	SHOW LOV	V CONSTRUCTION, INC.		\$81.130	\$69,122.76	+35.2%
3	W. W. CLYI	DE & CO.		\$100.000	\$85,200.00	+66.7%
7016075	HOUR	FLAGGING SERVICES (CIVILIA	AN)			
Bid Rank	Department	Estimate	1,688.000	\$55.000	\$92,840.00	
1	SEMA CON	STRUCTION, INC.		\$54.000	\$91,152.00	-1.8%
2	SHOW LOV	V CONSTRUCTION, INC.		\$66.500	\$112,252.00	+20.9%
3	W. W. CLYI	DE & CO.		\$85.000	\$143,480.00	+54.5%
7016079	HOUR	FLAGGING SERVICES (UNIFO	RMED OFFICER)			
Bid Rank	Department	Estimate	2,118.000	\$100.000	\$211,800.00	
1	SEMA CON	STRUCTION, INC.		\$83.000	\$175,794.00	-17.0%
2	SHOW LOV	V CONSTRUCTION, INC.		\$131.670	\$278,877.06	+31.7%
3	W. W. CLYI	DE & CO.		\$116.000	\$245,688.00	+16.0%
7030026	EACH	DELINEATOR ASSEMBLY (FLE	XIBLE) (CONCRETE FOUND	OATION)		
Bid Rank	Department	Estimate	5.000	\$500.000	\$2,500.00	
1	SEMA CON	STRUCTION, INC.		\$343.990	\$1,719.95	-31.2%
2	SHOW LOV	V CONSTRUCTION, INC.		\$199.500	\$997.50	-60.1%
3	W. W. CLYI	DE & CO.		\$210.000	\$1,050.00	-58.0%
7030082	EACH	OBJECT MARKER (M-23) (TYP	E 2)			
Bid Rank	Department	Estimate	2.000	\$500.000	\$1,000.00	
1	SEMA CON	STRUCTION, INC.		\$687.990	\$1,375.98	+37.6%
2	SHOW LOV	V CONSTRUCTION, INC.		\$731.500	\$1,463.00	+46.3%
3	W. W. CLYI	DE & CO.		\$699.500	\$1,399.00	+39.9%
7030096	EACH	MILEPOST MARKER (S-10) (O	N EXISTING POST)			
Bid Rank	Department	Estimate	2.000	\$500.000	\$1,000.00	
1	SEMA CON	STRUCTION, INC.		\$687.990	\$1,375.98	+37.6%
2	SHOW LOV	V CONSTRUCTION, INC.		\$465.500	\$931.00	-6.9%
3	W. W. CLYI	DE & CO.		\$419.500	\$839.00	-16.1%
7040005	L.FT.	PAVEMENT MARKING (WHITE	EXTRUDED THERMOPLAST	TIC) (0.090")		
Bid Rank	Department	Estimate	20,550.000	\$0.850	\$17,467.50	
1	SEMA CON	STRUCTION, INC.		\$0.580	\$11,919.00	-31.8%
2	SHOW LOV	V CONSTRUCTION, INC.		\$0.820	\$16,851.00	-3.5%
3	W. W. CLYI	DE & CO.		\$0.650	\$13,357.50	-23.5%
7040006	L.FT.	PAVEMENT MARKING (YELLO	W EXTRUDED THERMOPLA	STIC) (0.090")		
Bid Rank	Department	·	19,313.000	\$0.850	\$16,416.05	
1	•	STRUCTION, INC.		\$0.580	\$11,201.54	-31.8%

Printed: 9/23/2025 Page 9 of 12 *** Bid Tabs for Proposal Pamphlet 2024078 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7040006	L.FT.	PAVEMENT MARKING (YEL	LOW EXTRUDED THERMOPLA	STIC) (0.090")		
Bid Rank	Department	Estimate	19,313.000	\$0.850	\$16,416.05	
2	SHOW LOV	V CONSTRUCTION, INC.		\$0.820	\$15,836.66	-3.5%
3	W. W. CLYE	DE & CO.		\$0.650	\$12,553.45	-23.5%
7040074	EACH	PAVEMENT SYMBOL (EXTF	RUDED THERMOPLASTIC) (ALK	(YD) (0.090")		
Bid Rank	Department	Estimate	2.000	\$250.000	\$500.00	
1	SEMA CON	STRUCTION, INC.		\$231.930	\$463.86	-7.2%
2	SHOW LOV	V CONSTRUCTION, INC.		\$210.450	\$420.90	-15.8%
3	W. W. CLYE	DE & CO.		\$161.000	\$322.00	-35.6%
7060015	EACH	PAVEMENT MARKER, RAIS	ED, TYPE D			
Bid Rank	Department	Estimate	160.000	\$5.000	\$800.00	
1	SEMA CON	STRUCTION, INC.		\$3.770	\$603.20	-24.6%
2	SHOW LOV	V CONSTRUCTION, INC.		\$6.410	\$1,025.60	+28.2%
3	W. W. CLYE	DE & CO.		\$5.000	\$800.00	+0.0%
7060018	EACH	PAVEMENT MARKER, RAIS	ED, TYPE G			
Bid Rank	Department	Estimate	90.000	\$5.000	\$450.00	
1	SEMA CON	STRUCTION, INC.		\$3.770	\$339.30	-24.6%
2	SHOW LOV	V CONSTRUCTION, INC.		\$6.410	\$576.90	+28.2%
3	W. W. CLYE	DE & CO.		\$5.000	\$450.00	+0.0%
7080201	L.FT.	WATERBORNE-TYPE I PAV	EMENT MARKING (PAINTED) (WHITE)		
Bid Rank	Department	Estimate	14,600.000	\$0.500	\$7,300.00	
1	SEMA CON	STRUCTION, INC.		\$0.170	\$2,482.00	-66.0%
2	SHOW LOV	V CONSTRUCTION, INC.		\$0.220	\$3,212.00	-56.0%
3	W. W. CLYE	DE & CO.		\$0.150	\$2,190.00	-70.0%
7080202	L.FT.	WATERBORNE-TYPE I PAV	EMENT MARKING (PAINTED) (YELLOW)		
Bid Rank	Department	Estimate	10,300.000	\$0.500	\$5,150.00	
1	SEMA CON	STRUCTION, INC.		\$0.170	\$1,751.00	-66.0%
2	SHOW LOV	V CONSTRUCTION, INC.		\$0.220	\$2,266.00	-56.0%
3	W. W. CLYE	DE & CO.		\$0.150	\$1,545.00	-70.0%
7080206	EACH	WATERBORNE-TYPE I PAV	EMENT MARKING (PAINTED S	YMBOL) (ARROW)		
Bid Rank	Department	Estimate	2.000	\$225.000	\$450.00	
1	SEMA CON	STRUCTION, INC.		\$104.370	\$208.74	-53.6%
2	SHOW LOV	V CONSTRUCTION, INC.		\$91.500	\$183.00	-59.3%
3	W. W. CLYE	DE & CO.		\$70.000	\$140.00	-68.9%
8050003	ACRE	SEEDING (CLASS II)				
Bid Rank	Department	Estimate	7.000	\$5,500.000	\$38,500.00	
1	SEMA CON	STRUCTION, INC.		\$6,163.000	\$43,141.00	+12.1%
2	SHOW LOV	V CONSTRUCTION, INC.		\$7,931.140	\$55,517.98	+44.2%

Printed: 9/23/2025 Page 10 of 12 *** Bid Tabs for Proposal Pamphlet 2024078 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
8050003	ACRE	SEEDING (CLASS II)				
Bid Rank	Department	t Estimate	7.000	\$5,500.000	\$38,500.00	
3	W. W. CLYI	DE & CO.		\$8,954.000	\$62,678.00	+62.8%
8101005	CU.YD.	EROSION CONTROL (CHECK	(DAM) (GRADATION C)(ROC	CK MULCH)		
Bid Rank	Department	t Estimate	200.000	\$120.000	\$24,000.00	
1	SEMA CON	ISTRUCTION, INC.		\$185.580	\$37,116.00	+54.7%
2	SHOW LOV	W CONSTRUCTION, INC.		\$333.280	\$66,656.00	+177.7%
3	W. W. CLYI	DE & CO.		\$175.000	\$35,000.00	+45.8%
8101014	L.FT.	EROSION CONTROL (SEDIM	ENT WATTLES)(20")			
Bid Rank	Department	t Estimate	1,500.000	\$10.000	\$15,000.00	
1	SEMA CON	ISTRUCTION, INC.		\$16.510	\$24,765.00	+65.1%
2	SHOW LOV	W CONSTRUCTION, INC.		\$12.380	\$18,570.00	+23.8%
3	W. W. CLYI	DE & CO.		\$11.000	\$16,500.00	+10.0%
8101021	L.FT.	EROSION CONTROL (WATTL	ES) (9")			
Bid Rank	Department	t Estimate	3,700.000	\$5.000	\$18,500.00	
1	SEMA CON	ISTRUCTION, INC.		\$7.390	\$27,343.00	+47.8%
2	SHOW LOV	W CONSTRUCTION, INC.		\$5.750	\$21,275.00	+15.0%
3	W. W. CLYI	DE & CO.		\$5.100	\$18,870.00	+2.0%
8101029	CU.YD.	EROSION CONTROL (ROCK I	MULCH) (GRADATION C)			
Bid Rank	Department	t Estimate	34.000	\$150.000	\$5,100.00	
1	SEMA CON	ISTRUCTION, INC.		\$240.020	\$8,160.68	+60.0%
2	SHOW LOV	W CONSTRUCTION, INC.		\$275.230	\$9,357.82	+83.5%
3	W. W. CLYI	DE & CO.		\$175.000	\$5,950.00	+16.7%
9010001	L.SUM	MOBILIZATION				
Bid Rank	Department	t Estimate	1.000	\$335,555.000	\$335,555.00	
1	SEMA CON	ISTRUCTION, INC.		\$344,623.570	\$344,623.57	+2.7%
2	SHOW LOV	W CONSTRUCTION, INC.		\$320,305.500	\$320,305.50	-4.5%
3	W. W. CLYI	DE & CO.		\$438,000.000	\$438,000.00	+30.5%
9050003	L.FT.	GUARD RAIL, W-BEAM, SING	SLE FACE (MASH)			
Bid Rank	Department	t Estimate	1,650.000	\$50.000	\$82,500.00	
1	SEMA CON	ISTRUCTION, INC.		\$41.290	\$68,128.50	-17.4%
2	SHOW LOV	W CONSTRUCTION, INC.		\$66.500	\$109,725.00	+33.0%
3	W. W. CLYI	DE & CO.		\$69.500	\$114,675.00	+39.0%
9050024	EACH	GUARD RAIL TERMINAL (TAN	IGENT TYPE)			
Bid Rank	Department	t Estimate	8.000	\$4,500.000	\$36,000.00	
1	SEMA CON	ISTRUCTION, INC.		\$6,525.350	\$52,202.80	+45.0%
2	SHOW LOV	W CONSTRUCTION, INC.		\$6,650.000	\$53,200.00	+47.8%
3	W. W. CLYI	DE & CO.		\$8,201.000	\$65,608.00	+82.2%

Printed: 9/23/2025 Page 11 of 12 *** Bid Tabs for Proposal Pamphlet 2024078 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate	
9130001	CU.YD.	RIPRAP (DUMPED)					
Bid Rank	Department	: Estimate	35.000	\$400.000	\$14,000.00		
1	SEMA CON	ISTRUCTION, INC.		\$230.620	\$8,071.70	-42.3%	
2	SHOW LOV	V CONSTRUCTION, INC.		\$309.680	\$10,838.80	-22.6%	
3	W. W. CLYI	DE & CO.		\$365.000	\$12,775.00	-8.8%	
9130002	CU.YD.	RIPRAP (WIRE-TIED)					
Bid Rank	Department	: Estimate	17.000	\$400.000	\$6,800.00		
1	SEMA CON	ISTRUCTION, INC.		\$977.880	\$16,623.96	+144.5%	
2	SHOW LOV	V CONSTRUCTION, INC.		\$875.420	\$14,882.14	+118.9%	
3	W. W. CLYI	DE & CO.		\$725.000	\$12,325.00	+81.3%	_
9130005	CU.YD.	RIPRAP (GABIONS)					
Bid Rank	Department	Estimate	10.000	\$400.000	\$4,000.00		
1	SEMA CON	ISTRUCTION, INC.		\$841.560	\$8,415.60	+110.4%	
2	SHOW LOV	V CONSTRUCTION, INC.		\$821.940	\$8,219.40	+105.5%	
3	W. W. CLYI	DE & CO.		\$750.000	\$7,500.00	+87.5%	
9240010	L.SUM	FORCE ACCOUNT WORK (MIGRATORY BIRD PRECONST.	SURVEY)			
Bid Rank	Department	Estimate	1.000	\$10,000.000	\$10,000.00		
1	SEMA CON	ISTRUCTION, INC.		\$10,000.000	\$10,000.00	+0.0%	
2	SHOW LOV	V CONSTRUCTION, INC.		\$10,000.000	\$10,000.00	+0.0%	
3	W. W. CLYI	DE & CO.		\$10,000.000	\$10,000.00	+0.0%	
9240011	L.SUM	FORCE ACCOUNT WORK (CLIFF SWALLOW MITIGATION)				
Bid Rank	Department	Estimate	1.000	\$10,000.000	\$10,000.00		
1	SEMA CON	ISTRUCTION, INC.		\$10,000.000	\$10,000.00	+0.0%	
2	SHOW LOV	V CONSTRUCTION, INC.		\$10,000.000	\$10,000.00	+0.0%	
3	W. W. CLYI	DE & CO.		\$10,000.000	\$10,000.00	+0.0%	
9240012	L.SUM	FORCE ACCOUNT WORK (BAT MITIGATION)				
Bid Rank	Department	Estimate	1.000	\$10,000.000	\$10,000.00		
1	SEMA CON	ISTRUCTION, INC.		\$10,000.000	\$10,000.00	+0.0%	
2	SHOW LOV	V CONSTRUCTION, INC.		\$10,000.000	\$10,000.00	+0.0%	
3	W. W. CLYI	DE & CO.		\$10,000.000	\$10,000.00	+0.0%	
9240170	L.SUM	CONTRACTOR QUALITY CO	ONTROL				_
Bid Rank	Department	: Estimate	1.000	\$42,500.000	\$42,500.00		
1	SEMA CON	ISTRUCTION, INC.		\$33,384.500	\$33,384.50	-21.4%	
2	SHOW LOV	V CONSTRUCTION, INC.		\$59,850.000	\$59,850.00	+40.8%	
3	W. W. CLYI	DE & CO.		\$84,300.000	\$84,300.00	+98.4%	_
9240181	SQ.YD.	MISCELLANEOUS WORK (CONTROL OF NOXIOUS PLANTS	S)(MANUAL/MECH	IANICAL METHODS)		_
Bid Rank	Department	·	15,246.000	\$1.000	\$15,246.00		
1	•	ISTRUCTION, INC.		\$1.320	\$20,124.72	+32.0%	

Printed: 9/23/2025 Page 12 of 12

*** Bid Tabs for Proposal Pamphlet 2024078 ***

ltem Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate	
9240181	SQ.YD.	MISCELLANEOUS WORK (CC	NTROL OF NOXIOUS PLAN	ITS)(MANUAL/MECH	IANICAL METHODS)		
Bid Rank	Departmen	t Estimate	15,246.000	\$1.000	\$15,246.00		
2	SHOW LOV	W CONSTRUCTION, INC.		\$2.450	\$37,352.70	+145.0%	
3	W. W. CLYI	DE & CO.		\$1.400	\$21,344.40	+40.0%	
9240182	SQ.YD.	MISCELLANEOUS WORK (CC	NTROL OF NOXIOUS PLAN	ITS)(HERBICIDE)			
Bid Rank	Departmen	t Estimate	18,634.000	\$1.000	\$18,634.00		
1	SEMA CON	ISTRUCTION, INC.		\$1.080	\$20,124.72	+8.0%	
2	SHOW LOV	W CONSTRUCTION, INC.		\$1.180	\$21,988.12	+18.0%	
3	W. W. CLYI	DE & CO.		\$1.100	\$20,497.40	+10.0%	
9250001	L.SUM	CONSTRUCTION SURVEYING	AND LAYOUT				
Bid Rank	Departmen	t Estimate	1.000	\$37,500.000	\$37,500.00		
1	SEMA CON	ISTRUCTION, INC.		\$40,000.000	\$40,000.00	+6.7%	
2	SHOW LO	W CONSTRUCTION, INC.		\$73,150.000	\$73,150.00	+95.1%	
3	W. W. CLYI	DE & CO.		\$81,920.000	\$81,920.00	+118.5%	
9280037	L.FT.	GROUND-IN RUMBLE STRIP ((12 INCH)				
Bid Rank	Departmen	t Estimate	4,100.000	\$1.250	\$5,125.00		
1	SEMA CON	ISTRUCTION, INC.		\$1.000	\$4,100.00	-20.0%	
2	SHOW LO	W CONSTRUCTION, INC.		\$0.960	\$3,936.00	-23.2%	
3	W. W. CLYI	DE & CO.		\$0.650	\$2,665.00	-48.0%	